
 

  RF & RR (A) - 305 (PHY)  [ Turn over 

— 560 003 

KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD, MALLESWARAM, 
BANGALORE – 560 003 

/ 2020 

S.S.L.C. EXAMINATION, MARCH / APRIL, 2020 

MODEL ANSWERS 

: 30. 03. 2020 ] : 83-K (Phy.) 

Date : 30. 03. 2020 ] CODE NO. :  83-K (Phy.) 
 

Subject : SCIENCE 

/ Physics  

/ New Syllabus  

& /  Regular Fresh & Regular Repeater  

/ Kannada Version  

  [ : 80 

 [ Max. Marks : 80 
 

 
  

1.  

(A) 

(B)  

(C) 

(D)  

   (A)  
1 

A 
 CCE RF 

CCE RR 
REVISED 

 



83-K (Phy) 2 CCE RF + RR  

  RF & RR (A) - 305 (PHY)   

 
  

4. 

 

(A) F C

(B)  

(C) F P

(D)  

   (D)  
1 

5. 

 

(A) 

(B)  

(C) 

(D)  

   (B)  
1 

10. 

  

  

  ½ 

   ½ 1 



CCE RF + RR  3 83-K (Phy) 

  RF & RR (A) - 305 (PHY)  [ Turn over 

 
  

13.   

  

 

 ½ 

 

 ½ 1 

16. 

  

  

  ½ 

 

 ½ 1 

20. 20ºC 1 m

1·84 × 10  6
 m 3 × 10  4 m

 



83-K (Phy) 4 CCE RF + RR  

  RF & RR (A) - 305 (PHY)   

 
  

 

 
 

   = 1·84  10 6  m 

   l = 1 m 

   d  =  3  10 4  m  

  A  =  
4

d2
 

  =  
4

103103

7

22
44  

  ½ 

  =   28 m10
14

99  .  
 

  R  =  
A

l

 
½ 

  =  
8

6

1099

10141841








 ½ 

  =   
99

107625 2
 

  =  26·02  ½ 2 

  
 

   

 
4

1

4

1

2

111111

321



pp
RRRRR

 ½ 

 
p

R   =  1 . ½ 
 



CCE RF + RR  5 83-K (Phy) 

  RF & RR (A) - 305 (PHY)  [ Turn over 

 
  

   

  R  =  
4

RR
p
  

  =   1 + 5 

  =   6  ½ 

     I  =  
6

6


R

V
  =  1 A.  ½ 

2 

24.  

(i)  

(ii)  

 

 

21
, BB  —  

21
, RR  —  

1½ 

½
 

2 

25. 

 

  



83-K (Phy) 6 CCE RF + RR  

  RF & RR (A) - 305 (PHY)   

 
  

 

 
 

  

i) 

 ½ 

ii)  ½ 

iii) 

 ½ 

 H  =  RtI 2  ½
 

  

  

 ½ 

 

 ½ 

 

 ½ 3 

  
 

  

V

 1 

  ½ 

  ½ 

  ½ 

 

 ½ 3 



CCE RF + RR  7 83-K (Phy) 

  RF & RR (A) - 305 (PHY)  [ Turn over 

 
  

30. 
12 cm

18 cm

 

 – 0·5 D 

  

 
 

  f  =  – 12 cm 

    u  =  – 18 cm 

  
vuf

111
  ½ 

  
ufv

111
  

  =   –  )
18

1
(

12

1
  ½ 

  =    
18

1

12

1
  

  =   
36

23 
 

   
36

11


v
   v  =  – 36 cm ½ 

 



83-K (Phy) 8 CCE RF + RR  

  RF & RR (A) - 305 (PHY)   

 
  

 
     m   =   

u

v
 ½ 

  =  –  )
18

36
(



 

  =  – 2 ½ 

   ½ 3 

  

 
 

 p  =  
f

1
,    p  =  – 0·5 D 

 f  =  
p

1
       f  =  – 

50

1


  =  – 2 m 1 

 

   ½ 

   ½ 

 

 ½ 

 

  ½ 3 



CCE RF + RR  9 83-K (Phy) 

  RF & RR (A) - 305 (PHY)  [ Turn over 

 
  

32. F
 1

2F
 1

F
 1

  

 

  

 2
2
F  2 

 ½ + ½  3 

36. 

  

  

 

 

 

 

 

 4 



83-K (Phy) 10 CCE RF + RR  

  RF & RR (A) - 305 (PHY)   

 
  

 

 

 

 ½
 
 5 

 

 

 

  

 

 ½
 
 3 

38. 

  

 
 

 

 ½ 

 

 ½ 

 

 ½ 

 

 ½ 5 



CCE RF + RR  11 83-K (Phy) 

  RF & RR (A) - 305 (PHY)  [ Turn over 

 
  

 

 1 

 

 ½ 

 

 ½ 

 

 ½ 

 

 ½ 

 
   
 


